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In the review lecture I discussed the following problem:

Problem. Let f(x) = − cos

(
1

1 + 2x

)
.

(a) Compute f ′(x).
(b) Compute f ′′(x).

In discussing part (b) I used logarithmic differentiation and at some point
I had to compute the derivative of

ln

(
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))
.

However, at this point I made a mistake in applying the chain rule. The
correct derivative is
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)
When I did this calculation in lecture I omitted the term − cos(1/(1+2x)),

affecting this answer and the resulting expression for f ′′(x).


